Balancing Chemical Equations (Level I) Name; /{ 6‘{7}

L1 N+ 3 m, »> _Z NH,

2. | mpo, — ! s+ [ o

3. L cug+ 15 o, > 12 co,+_£ mo
4 2 Fe+ Y Ho0 —> | Fe0,+ Y 4,

s. _1_oHoH +_3 o, —> _Z co,+_3 mo
6. | sio, v Y ur —> _{ sif + 2 wo
7.1 _co+ 1 Feo, » 3 Fe0o+_/ co,
8. 1 NuwNo, A
9.‘_L_N2H4+_,/_o2 > | N+_Z no
1.3 No, + _{ _mo * 2 mNo, + ! No
i._l_p,+ 5o, -+ _ ! p,04

2.2 50, +_ o, —>_Z 50,

3._1 0,+ 2 g —> _Z 50

4.3 sio, + ¥ A > 3 Si+_2 aLo0,
15._% H,+ ! peo, > 4 Ho+ 3 ke

16. } ZnCl, + 2 AgNQ; —*—————-b __2___AgC1 + _._I_.ZH(NO3)2

17. _|_Fecl; + _3 Naom — | Fe(omy, + _3 Nacl
18. 1 _agcr+ 2 gken —> _ | _Kageny, + 1 kel

19, _L(NH4)2304 + 1 Ca(OH), —»> 2 NH,OH + _ 1 caso,
0. po+ b, —» 4

21._F Noy +_3 o, -+ Z N+ _ 6 mo
2 | _cu,+ % o, — 6 10+ 5 co,




